#420000 AMIGO SMART SHOPPER (EXPLODED VIEW)
SERIAL NUMBER AMI0078939 TO AM10083845 (4/06 — 11/06)

9855-SET

9280 ﬁ

10394 §0/ 9783 EZ TILT

784 EZ TILT

AMIGO MOBILITY INTERNATIONAL, INC.

&
EVABESR <493 Dixic Highway, Bridgeport, MI 487229725
Phone (800) 248-9131 o Fax (800) 334-7274 ® www.myamigo.com

12/06.ENG



420000 SMART SHOPPER PARTS LIST- AMI0078939 TO PRESENT (4/06 - PRESENT

Part# Description Oty/unit Part# Description Oty/unit
1192 Washer .281 ID .63 OD .06 flat 6 9161 Bumper wrap around 1
1258 Screw 5/16-18 X .75 hex 4 9203 Wire asm seat switch to MPC

1614 Washer .312 ID flat 2 9247 Arm asm right

2237 Nut 3/8-24 hex 1 9248 Arm asm left

2822 Screw 1/4-20 x 1.75 hex 4 9280 Screw 1/4-20 x 1.50 carriage

3083 Nut 1/4-20 serrated flanged 12 9610 Cover asm cinnamon red

3603 Nut 5/16-18 hex nylon insert

3622 Nut 1/4-20 hex nylon insert

4075 Screw 1/4-20 x 2.00 FHCS

4953 Screw 1/4-20 x 2.50 hex

5190 Screw 1/4-20 x .62 SHCS

5865 Screw, 10-24 x .25 x 1.25 SHLD

5893 Washer .281 ID 1.0 OD fender

6227 Nut, 10-24 hex nylon insert

6463 Tube plug

6505 Screw 3/8-24 X 4.5 hex

6816 Basket shopping

7281 Screw 1/4-20 x .88 SHCS

7438 Wire asm battery to C.B.

7441 Circuit breaker 25 amp

7541 Wheel 1.6” stability

7630 Screw 1/4-20 x 4.50 hex

7773 Cap vinyl insulated

7852 Wire asm charger to MPC

8153 Basket sign operating instructions

8216 Charger 3 Amp

8270 Screw 1/4-20 x 2.25 carriage

8300 Strap battery retaining

8534 End plugs

8675 Ground wire asm

8722 Tube rear bumper

8944 Band controller & charger mounting

8969 Cable MPC handle control
9054PQ K MPC Commercial ASIC

9121 Wire asm battery to MPC hardwire

9133 Seat black commercial

9146 Wire asm kit battery hardwire

9157.10  Seat switch

9612 Cover asm emerald green
9614 Cover asm scuba blue
9616 Cover asm sterling silver
9783 EZ TILT Encl & pot asm Hi-Low handle w/ key
9784 EZ TILT Encl & pot asm Hi-Low handle w/ rocker
9855 Arm assembly standard set
9936 Handle, upper
9937.21 Column asm non-tilting handle
9981.10 Wheel asm 6” front flat profile
10050 Bearing set
10094 Screw #8-32 X .38 phillips self tapping
10394 Strap basket support
10396 Charge cord retractile AC
10405 Bracket AC cord holding
10408 Wire asm B+ to B-
10457 Seat post weldment commercial
10509 Platform weldment standard length
10511 Fork weldment
10512 Bracket basket support
10513 Mat platform
10516 Boot handle
10518  Spacer .63 OD .31 ID
10526 Label domed Amigo
10546 Brake assembly
10554 Clip wire guide
10580  Wheel 9” foam filled mag
10585 Cap black mag wheel center
10852 Compact transaxle drive
10863 Motor assembly
210203 Arm pad
210204  Arm pad (set)
269002 Battery U-1 33-35 AH

NP NRPRPNNORPRRPRAMRPRRPRRPRPRPRPRPRPRPONRPRRPRPRPRPRPRPRPREPREPREPRERWERLERLR

P PP RPRPRPANPNRAMRPRPREPNANRPRENRPRPRENNNNRENNOTGRN

[\ . AMIGO MOBILITY INTERNATIONAL, INC.
EVABESR <493 Dixic Highway, Bridgeport, Ml 48722-9725
Phone (800) 248-2131 ® Fax (800) 334-7274 * www.myamigo.com

12/06.ENG



ROCKER/KEY

! THROTTLE
POT

[eYeJeYoYe)

THROTTLE CIRCUIT BOARD

SWITCH

BLK
SIRED

1O

BLU

! ORG
BLK

YEL

>
0

BRN

(@

GRN
RED

MODULAR CONN.

SMART SHOPPER

WIRING DIAGRAM

~ TOP_OF HANDLE

8 PIN
CONNECTOR

BRAKE/SEAT
SWITCH

C51108
CONTROLLER
10940XXX

BATTERY

CHARGER

MOTOR -

MOTOR +

BATTERY
12V D.C.

A%u -
RED BLK

BLK

BATTERY
12V D.C.

BLK

RED |

[CB. O

BLK

BLK

S
7

10947

BLK

SEAT SWITCH (N.C.)

ONLY

, COMMERCIAL USE
T

]

BLK

N

WHT

CHARGER

,
GRN

e

GRN
WHT

=B O

Vi

WHT BLK

BLK

MOTOR

/’wmmm; 0

RED

RED




SMART SHOPPER
WITH SMART CHARGE

RED

—-——--—| 7L CHARGE ™
BLK

SWITCH

YEL GRY

SMART

RED

CHARGER

BLK

TOP_OF HANDLE

SEAT SWITCH (N.C.)

BATTERY
12v D.C.

RED

BLK

o

of F—C
1 BCOPI\II'I\fI o) + GND |+ +
S - o) E = =
o
VISC. CHARGER
OPTIONS

L SHOPPER ASIC MICROCONTROLLER (CSI 1103)

BLK

BLK

RED

MOTOR

BLK




	0078939 - 0083845
	Smart Shopper Wiring Diagram July 2005 - August 2007
	Smart Shopper Wiring Diagram w Smart Charge November 2005 - November 2006

